Programming Array Questions
1) The Department of Traffic Accidents each year receives accident count reports from a number of cities and towns across the country.  To summerize these reports, the Department PROVIDES A FREQUENCY-DISTIBUTION PRINTOUT THAT GIVES THE NUMBER OF CITIES REPORTING ACCIDENT COUNTS IN THE FOLLOWING RANGES: 0 – 99, 100 – 199, 200 – 299, 300 – 399, 400 – 499, 500 or above.  The Department needs a computer program to read the number of accidents for each city or town reporting and to add one to the count for the appropriate accident range.  After all the data has been processed, the resulting frequency counts are printed in a tabular form.

2) Write a program which, given the taxable income for a single taxpayer, will compute the income tax for that person.  Use schedule X below.  Assume that “ line 47”, referenced in this schedule, contains the taxable income.

Example:  If the individual’s taxable income is $8192.00, your program should use the tax amount and per cent shown in column 3 of line 7 (arrow).  The tax in this case is 



$1590.00 + 25%(8192 – 8000) = $1638.00

For each individual processed, print taxable earnings and total tax.  HINT: Set up three arrays, one for the base tax column (column 3), one for the tax percent (column 3), and the third for the excess base (column 4).  Your program must then compute the correct index to these arrays, given the taxable income.
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